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& (15cm)
bt R H= B
# (15cm) BPRARELR (FEEH
1R X6.5m CGHEHNIE) 6.5 m
it (&) 6.5 m
B (15cmifas)
bt R H= B
B (15cm) BAMAXERE (AKX - 385 - XF)
HEITE=31.3m (&EEEHET7Y) 31.3 m
BMAXERE (AKX - 385 - XF)
BIKE=16.1mx2 (EMSEFERT) 32.2 m
i (B) 63.5 m
B (15cm)
bt R H= B
R Bt R SRARERER (BEHH)
B (15cm) 33. 5bm+39. 3m 72.8 m
AN IS SRARERER (BEHH)
0. 75m+9. 35m+41. 10m+12. 80m+
B (15cm) ]2. 50m+7. 50m+44. 10m+16. 00m 134. 1 m
i (B) 206. 9 m
B (15cm)
bt R H= B
vt —5q4 SRZEMXELRE (BERR)
B (15cm) 10. Om+15. Om 25 m
A&t (B) 25 m
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9 x3m _(fEET5E) 27 m
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AR p1565 18

T (YEE 51.2 m3 / 15 m/8 3.41
©A%G  p2615HB

ERE 1023.7 m2 / 1340 m/H 0.76
©A%  p2505 B

TREEIE 1023.7 m2 / 1510 m/HB 0.68
©A%  p251BH

== 1023.7 m2 / 2300 m/H 0.45
©A%  p251BH

= 1023.7 m2 / 2300 m/H 0.45
ZEEEE p35H

XEHRT R XER (FELE15cm) 6.50 m / 1000 m/H 0.01
ZEMEE p35R

BTt R ES (I KED - SRS T 15emif ) 63.50 m / 333 m/H 0.19
EEBEE o105

EREERER (BEH15cm) | 206.90 m / 750 m/H 0.28
EEBEE o105

SRR X E R (E B #R15cm) 25.00 m / 750 m/H 0.03
EEBEE o105

BRERMN X E R (B FEER30cm) 53.00 m / 500 m/H 0.11
EEBEE o105

SRR R E R (B J 545cm) 32.50 m / 350 m/H 0.09

&Et 6.46

E{:) 7.0

700 B x 3 A/H = 21.0 A




